Return Original. Answer on own paper. Show your Work. 
Activity: Density








     Section 2.2

1. A student finds a shiny piece of metal that she thinks is aluminum.  In the lab, she determines that the metal has a volume of 245 cm3 and a mass of 612 g. Calculate the density.  Is the metal aluminum? Hint: Density of aluminum is 2.7 g/cm3
2. A bar of silver has a mass of 68.0 g and a volume 6.48 cm3.  What is the density of silver? 
3. Use dimensional analysis and the given densities to make the following conversions. 



a. 14.8 g of boron to cm3 of boron. The density of boron is 2.34 g/ cm3.  Hint: Make a conversion factor


out of the density (2.34 g = 1 cm3)


b. 4.62 g of mercury to cm3of mercury. The density of mercury is 13.5 g/cm3.

4. Rework question #3 by applying the following equation. Volume= _Mass_ 


a. 14.8g of boron to cm3




   Density


b. 4.62g of mercury to cm3

5. A weather balloon is inflated to a volume of 2.2 × 103 L with 37.4 g of helium. What is the density of helium in grams per liter? 
6. A 68-g bar of gold is cut into 3 equal pieces. How does the density of each piece compare to the density of the original gold bar? 
7. A plastic ball with a volume of 19.7 cm3 has a mass of 15.8 g. Would this ball sink or float in a container of gasoline? (Assume that the density of gasoline is 0.680 g/cm3.) Show your work
8. What is the volume, in cubic centimeters, of a sample of cough syrup that has a mass of 50.0 g? The density of cough syrup is 0.950 g/cm3. 
9. Use dimensional analysis to determine the mass, in kilograms, of 14.0 L of gasoline. (Assume that the density of gasoline is 0.680 g/cm3.) Hint: 1L=1000cm3, 1kg=1000g
10. A sample of lead is found to have a mass of 32.6 g. A graduated cylinder contains 2.8 mL of water.  After the lead sample is added to the cylinder the water level reads 5.7 mL. Calculate the density of the lead sample.

